YW UNIVERSITY of WASHINGTON L23: Virtual Memory Wrap-Up CSE351, Autumn 2017

Practice VM Question

« Our system has the following properties
= 1 MiB of physical address space m=20
" 4 GiB of virtual address space n =32
" 32 KiB page size p=15

= 4-entry fully associative TLB with LRU replacement
1 set

a) Fill in the following blanks:
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Practice VM Question
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» One process uses a page-aligned square matrix
mat [ ] of 32-bit integers in the code shown below:

#define MAT SIZE = 2048
for (int i=0; i<MAT SIZE; i++)

mat [1* (MAT SIZE+1)] = i;é”’_“\B

updatin
b) What is the largest stride (in bytes) between )\ w?

. . r:e)
successive memory accesses (in the VA space)?
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Practice VM Question
page size =32K:3 =2GB
+» One process uses a page-aligned square matrix
mat [ ] of 32-bit integers in tgﬁ code shown below:
#define MAT SIZE = 2048nk=2"B
for (int i=0; i<MAT SIZE; i++)
mat [i* (MAT SIZE+1)] = i;

c) What are the following hit rates for the first
execution of the for loop? (asume all & matll stirts on disk)
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